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3. In general, the implementation guidance included in Appendix A 1s extremely useful, and we
appreciate the staff’s efforts in putting this information together. The following would make the
guidance even more useful:

o

Include a description and example of how financial statements for interim periods are
affected.

For companies that show a 10-year history of selected financial information, clanfy whether
the relevant figures for before the date of the earliest financial statement should be modified,
left unchanged, or footnoted to indicate that they were calculated under prior methodology,
and whether the most recent three years should be left unchanged or modified to match the
revised financial statements. Note that many companies may not have retained the detaled
information necessary to recompute net income from 10 years ago.

Include an example of a company that has historically had gain/loss amortization.
Individuals who are expert in pension accounting will understand that it will be necessary to
add additional steps and line items (e.g., in the schedule on page 13), but many preparers will
omit gain/loss amortization because they do not see it in the examples.

Include in the examples the actual entries (both the debit and the credit) that need to be
made.

Paragraph A19(a) indicates that paragraph A21(a) illustrates the recognition in net income of
the settlement loss. We do not see where A21(a) includes that illustration. And we are
unclear as to the development of the $80 in that schedule. Where footnote (a) states “net
actuarial loss,” we assume from the context that it means net unrecognized loss. But we are
unclear as to why the settlement loss should be included in this development of the change in
OCI when it should already have been recognized in earnings. Shouldn’t the change in OCl
(gross of tax) equal the change in unrecognized amounts?

4. We assume that the useful supplemental implementation guidance issued with regard to not-for-
profit employers will be included in any final standard.

5. We believe that the sample disclosures on page 83 (amendments to paragraph C3 of SFAS
#132(R)) have a number of inconsistencies.

The amortization of net (gain) loss component of net periodic benefit cost should be restored,
as even communicating zero amortization conveys useful information.

For pension benefits, the amortization of prior service cost increases from $16 in 20X2 to
$20 in 20X3, but there is no plan amendment in 20X2 to account for that increase. The
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amendment of $70 (page 81) was made at the end of 20X3 and so would first be amortized n
the 20X4 net periodic cost.

o The reconciliation of assets and obligations on page 81 implies a pension balance sheet as of
year-end 20X1 of

Assets $ 894
Obligations (1,200)
Funded status  $ (306)

The amounts included in accumulated other comprehensive income (before tax) would be:

Prior service cost $ 176
Unrecognized net actuarial loss 130
Total $ 306

We note that the unrecognized loss of $130 exceeds 10% of the benefit obligation. We thus
would have expected an amortization of loss n 20X2.

o The pension (gain) recognized in other comprehensive income in 20X2 should be $(112), not
$112 as shown.

s The net actuarial (gain) recognized in other comprehensive income for other benefits for
20X2 should be $(16). The $(48) shown is the full unrecognized net actuarial loss as of the
end of 20X2.

s The recognized net loss for pension benefits at year-end 20X3 is less than 10% of 20X3
obligations; therefore, we would have expected no amortization of loss for 20X4.

= There was a plan amendment in 20X3 for pension benefits and a negative amendment in
20X3 for other benefits; therefore, we would have expected that the amortization of prior
service cost for 20X4 would have been different than for 20X3.

The example on the next page revises the example shown in the exposure draft, highlighting our
suggestions.

6. The amendments to paragraph 35 of SFAS #87 still refer to “unfunded accrued pension cost” and
“prepaid pension cost.” We do not believe that either of these concepts is relevant to the asset or
liability recognized due to the plan’s funded status.
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Revised Disclosure Example from Page 83

Components of Net Periodic Benefit Cost and Other Amounts Recggnized

in Other Comprehensive income

#‘

Pension Benefits Other Benefits

Net Periodic Benefit Cost 20X3 20X2 20X3 20X2
Service cost $76 $72 $36 $32
Interest cost 90 88 55 55
Expected return on plan assets (85) (76) (17) (8)
Amortization of prior service cost 20" 16 (5) (5)
Amortization of net (gain) loss [stef] 0 o~ __0 _0
Net periodic benefit cost 101 $100 $ 69 $74
Other Changes in Plan Assets and Benefit
Obligations Recognized in Other
Comprehensive Income
Net actuarial loss {gain) $76 $(112) $37 $(16)
Amortization of net (gain) loss (0) - (0) (0) (0)
Prior service cost (credit) 70 0 (75) 0
Amortization of prior service cost (20) (16) 5 5

Total recognized in other comprehensive

income 126 (136) (33) (16)
Total recognized in net benefit cost and other |
comprehensive income $227 $(36) $36 $58
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The estimated net actuarial loss and prior service cost for the defined benefit pension plans that
will be amortized from accumulated other comprehensive income into net periodic benefit cost
over the next fiscal year are $0 and $24 respectively. The estimated prior service cost for the
other defined benefit postretirement plans that will be amortized from accumulated other
comprehensive income into net penodic benefit cost over the next fiscal year is $(9).

The notes below identify inconsistencies in the figures in the table and are not intended for
inclusion in the example. We suggest changing the figures in the illustration to avoid these
inconsistencies.

* Note this was 320 in the SFAS #132(R) example but it’s not clear why as there is no plan
amendment in 20X2.

** Note that one might have expected an amortization here as the loss of $130 at the beginning of
the year exceeds the 10% corridor by §10.




